Name _______________________________________________

Quiz #7, Math 102, Autumn 2007

1. Sketch the graph of linear function and label both intercepts plus two additional points on the graph.
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(8,0), (0, -4) and …
2. Given the points (-2, -6) and (4, -4)

find the slope of the line connecting

the points.

1/3
3. Give the slope and y-intercepts (if they exist) of the following lines:

a. f(x) = 2x + 3 
m = 2, b = 3
b. 3x + 2y = 12
m = -3/2, b = 6
c. y = 6

m = 0, b = 6
d. x = -3

m = undefined, no y-intercept
4. Given the line -2x + 3y = 1

a. Find the slope of a line parallel to this line

m = 2/3
b. Find the slope of a line perpendicular to this line

m = -3/2
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